

WELCOME TO The Willow Room

# WINE & BEER PACKAGES

St. John's Dixie Cemetery & Crematorium

> 737 Dundas Street East www.stjohnsdixie.com

# THE BRONZE PACKAGE

### **Peller Family Vineyards**

Red (Cabernet Sauvignon) & White (Pinot Grigio)

Package 1 - Wine Only - Avg 1 glass per person

**0-50 guests** = 15 bottles \$31.75/bottle = \$476.00

**50-100 guests** = 30 bottles \$29.50/bottle = \$855.00

**100-150 guests** = 45 bottles \$29.00/bottle = \$1,305.00

**150-200 guests** = 60 bottles \$28.75/bottle = \$1,725.00

Package 2 - Wine Only - Avg 2 glasses per person

**0-50 guests** = 25 bottles \$31.75/bottle = \$793.75

**50-100 guests** = 50 bottles \$29.50/bottle = \$1,475.00

**100-150 guests** = 75 bottles \$29.00/bottle = \$2,175.00

**150-200 guests** = 144 bottles \$28.75/bottle = \$2,875.00

Package 3 - Wine Only - Avg 3 glasses per person

**0-50 guests** = 38 bottles \$31.75/bottle = \$1,206.50

**50-100 guests** = 75 bottles \$29.50/bottle = \$2,212.50

**100-150 guests** = 113 bottles \$29.00/bottle = \$3,277.00

**150-200 guests** = 150 bottles \$28.75/bottle = \$4,312.50

# Beer Add-On\*

Bud Light, Coors Light or Sleeman Original

0-50 guests = 36 bottles \$6.75/bottle = \$243.00

50-100 guests = 72 bottles \$6.50/bottle = \$468.00

100-150 guests = 108 bottles \$6.25/bottle = \$675.00

150-200 guests = 144 bottles \$6.00/bottle = \$864.00

\*cannot be added to the package 3

# THE SILVER PACKAGE

## **Jackson Triggs**

Red (Cabernet Sauvignon) & White (Pinot Grigio)

Package 1 - Wine Only - Avg 1 glass per person

**0-50 guests** = 15 bottles \$34.50/bottle = \$517.50

**50-100 guests** = 30 bottles \$31.00/bottle = \$930.00

**100-150 guests** = 45 bottles \$30.50/bottle = \$1,372.00

**150-200 guests** = 60 bottles \$30.00/bottle = \$1,800.00

Package 2 - Wine Only - Avg 2 glasses per person

**0-50 guests** = 25 bottles \$35.00/bottle = \$875.00

**50-100 guests** = 50 bottles \$31.00/bottle = \$1,550.00

**100-150 guests** = 75 bottles \$30.50/bottle = \$2,287.50

**150-200 guests** = 144 bottles \$30.00/bottle = \$3,000.00

Package 3 - Wine Only - Avg 3 glasses per person

**0-50 guests** = 38 bottles \$35.00/bottle = \$1,330.00

**50-100 guests** = 75 bottles \$31.00/bottle = \$2,325.00

**100-150 guests** = 113 bottles \$30.50/bottle = \$3,446.50

**150-200 guests** = 150 bottles \$30.00/bottle = \$4,500.00



# THE GOLD PACKAGE

### **Wayne Gretzky**

Red (Baco Noir) & White (Chardonnay)

Package 1 - Wine Only - Avg 1 glass per person

**0-50 guests** = 15 bottles \$42.00/bottle = \$630.00

**50-100 guests** = 30 bottles \$36.00/bottle = \$1,080.00

**100-150 guests** = 45 bottles \$35.50/bottle = \$1,597.00

**150-200 guests** = 60 bottles \$35.00/bottle = \$2,100.00

Package 2 - Wine Only - Avg 2 glasses per person

**0-50 guests** = 25 bottles \$42.00/bottle = \$1,050.00

**50-100 guests** = 50 bottles \$36.00/bottle = \$1,550.00

**100-150 guests** = 75 bottles \$30.50/bottle = \$2,287.50

**150-200 guests** = 144 bottles \$30.00/bottle = \$3,000.00

Package 3 - Wine Only - Avg 3 glasses per person

**0-50 guests** = 38 bottles \$35.00/bottle = \$1,330.00

**50-100 guests** = 75 bottles \$31.00/bottle = \$2,325.00

**100-150 guests** = 113 bottles \$30.50/bottle = \$3,446.50

**150-200 guests** = 150 bottles \$30.00/bottle = \$4,500.00

- \* Wine is subject to availability
- \* Wine and Beer can only purchased with a signed waiver
- \* Smart Servers will be provided
- \* All packages are subject to H.S.T.
- \* Wine cannot be substituted
- \* Outside alcohol is strictly prohibited